[image: image1.jpg]- Where is the arc on ©0?

- Central angle: An angle that has
the center of the circle as its vertex,
and its sides contain two radii of

the circle.
Construct a central angle!
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Section 10.2 Angles and Arcs

If we construct all possible central angles in
©O, what is the sum of the central angles?
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e A central separates the circle into two parts, each of which is called an arc.

e The measure of each arc is related to the measure of the central angle.
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In a circle graph, the central angles divide a circle into wedges to represent data, often expressed
as a percent. The size of the angle is proportional to the percent.
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S Arc lenath =distance €
Relating the Percent Proportion to Arc Length Arc measore = ang le 3

-Arc length is a part of the circumference
-Also, keep in mind arc length vs. arc measure
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In ©B,AC=9 amipiiABD =40.
Find the length of AD

A, g C=t-d

40(28.97) = 3O £ X 8%
130.80 = 3604





